
www.costway.com

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION. PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Visit us: www.costway.com

Follow CostwayPlease give us a chance to make it right and do better！

Contact our friendly customer service department for help first. 

Replacements for missing or damaged parts will be shipped ASAP!

USER’S MANUAL
Mobile File Cabinet

CB10152

EN       DE       FR       ES       IT       PL

https://manuals.plus/m/afc99fd3facc5e1d5fde16fb2b91d80d908b0ec0648ac8a2f78d34f0a53d5618


Contact Us!
Do NOT return this item. 

Contact our friendly customer service department for help first. 

E-mail
 US: cs.us@costway.com

 UK: cs.uk@costway.com

Before You StartBefore You Start

Please read all instructions carefully.

Retain instructions for future reference.

Separate and count all parts and hardware.

Read through each step carefully and follow the proper order.

We recommend that, where possible, all items are assembled near to the 

area in which they will be placed in use, to avoid moving the product 

unnecessarily once assembled.

Always place the product on a flat, steady and stable surface.

Keep all small parts and packaging materials for this product away from 

babies and children as they potentially pose a serious choking hazard.

www.costway.com

02



Serial Number  Part Name Part  Quantity

A

B

C

D

E

F

G

I

J

K

L

M

N

H

O

P

M5*12MM
X22Self-tapping screw

Caster

Wrench

Left slide way      

Right slide way

Left slide rail

Right slide rail

Lock

Self-tapping screw

Pulley

Non-slip gasket

Cap nut

Round head screw

Spacer

Bottom wheel

Pencil case

X4

X1

X2

X2

X1

X1

X1

X10

X8

X4

X4

X4

X4

X1

X1

M4*10MM

M5*18MM

www.costway.com

03



Serial Number  Part Name Part  Quantity

1

2

3

4

5

6

7

9

10

11

12

13

14

8

15

16

X1

X1

X1

X1

X1

X2

X1

X1

X2

X2

X2

X1

X1

X1

X1

X1

www.costway.com

Back panel

Left panel

Right panel

Inner frame    

Top panel

Foot stand

Bottom panel

Locking bar

Small drawer panel

Rear block of small drawer

Front panel of small drawer

Big drawer panel

Front block of big drawer

Rear block of big drawer         

Front panel of big drawer

Iron baffle

04



5

2

6 7

3

1

4 8

2

31

1

4

2 3

5

4

6

7

5 6

7

8

8 9

D Left X2 E Right X2

6

X 4

X 4A-M5*12 X 6A-M5*12

X10A-M5*12

X 4A-M5*12

B-4 C-1

J

www.costway.com

1.Fix the left 
panel (2) and 
the right panel 
(3) to the back 
panel (1) with 
screws.

2.Fix the 
inner frame 
(4) to the 
left and 
right panels 
(2 and 3) 
with screws.

3. Install the top 
panel (5) from 
top to bottom, 
and fix it to the 
left and right 
panels (2 and 3) 
with screws.

4. Install 2 
foot stands 
(6) to the 
bottom 
panel (7).

5. Install the 
assembled 
bottom panel 
(7) to the the 
left panel (2) 
and the right 
panel (3), and 
fix them with 
screws.

6. Install 4 
castors (B) 
to the left 
panel (2) 
and the 
right panel 
(3), and 
then tighten 
them with a 
wrench.

7. Install 
the locking 
bar (8) into 
the right 
panel (3), 
and insert 
the lower 
part of the 
locking bar 
into the 
right panel.

8. Install the left and 
right slide ways (D 
and E) to the left and 
right panels (2 and 3) 
respectively, and 
install the pulleys (J).

9. As shown in 
the figure, 
disassemble the 
left and right 
slide rails (F and 
G) respectively.

05



10 11 12

13 14 15

17 18

20 21

16

19

9

10

9

11

X2

13
14

12

15

9

12

12

9

14

X5

X4

F Left X1 G Right X1

X 2

I-M4*8

M-M5*18

H-1

X 2 LKX 2J

X4N-M6

www.costway.com

10. Install the left and right slide rails 
(F and G) to the left and right panels (2 
and 3) respectively.

11. As shown in 
the figure, turn the 
lock(H) clockwise 
and install it on 
the top panel (5) 
after turning. Note 
that the locking 
bar (8) needs to be 
installed on the 
lock.

12. As shown in the figure, fold up the 
left and right sides of the small drawer 
panel (9) to 90 degrees as shown in 
Figure 13.

14. As shown in the figure, install the 
rear block of small drawer (10) to the 
small drawer panel (9) and fasten it in 
place.

15. As shown in the 
figure, connect the front 
panel of small drawer (11) 
to the small drawer panel 
(9) with screws.

16. As shown in the figure, fix pulleys 
(J) to the left and right sides of the 
small drawer panel (9) with gaskets and 
cap nuts.

17. Repeat steps 12-16 to 
complete the installation of 2 
small drawers.

18. As shown in the figure, fold up 
the left and right sides of the big 
drawer panel (12) to 90 degrees as 
shown in Figure 19.

19. As shown in the figure, install the 
disassembled left and right inner rails on 
the left and right sides of the big drawer 
panel (12) respectively.

20. As shown in the figure, install the 
front block and rear block (13 and 
14) to the big drawer panel (12) and 
fasten the front block of big drawer 
(13) in place.

21. As shown in the figure, 
connect the front panel (15) to 
the front block of big drawer 
(14) with screws.

06



22
23 24

25 26 27

28 29

16 16

16

15

12

12

12

30

31

X2A-M5*12X1O

P X1

www.costway.com

22. As shown in the figure, fix the 
bottom wheel (O) to the front panel of 
drawer (15) with screws. 23. Install the iron baffle (16) to the big 

drawer panel (12).
24. Install one side of iron baffle (16) to 
the big drawer panel (12) first.

25. Install the other side of iron baffle 
(16) to the big drawer panel (12) first.

26. The large drawer assembly is 
completed.

27. Install the large drawer on the 
cabinet.

28. When the big drawer is drawn out, 
the bottom wheel will fall to the ground 
to prevent tipping.

29. Install 2 small drawers.

30. In the 
first small 
drawer, 
install the 
pencil case 
(P).

07



Welcome to visit our website and purchase our quality products!

We would like to extend our heartfelt thanks to 

all of our customers for taking time to assemble 

this product and giving us valuable feedbacks.

With your inspiring rating, COSTWAY will be more consistent to offer you 

EASY SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

US office: Fontana, California

UK office: Ipswich

www.costway.com

Reward Points

Exclusive Customer Service

Personalized Recommendations
Permanent Shopping Cart

Order History

www.costway.com

08



Bitte geben Sie uns eine Chance, 
es zu korrigieren und besser zu machen!
Wenden Sie sich zunächst an unseren freundlichen Kundendienst.
Ersatz für fehlende oder beschädigte Teile wird so schnell wie möglich versendet!

DAS HANDBUCH ENTHÄLT WICHTIGE SICHERHEITSHINWEISE. BITTE LESEN UND BEWAHREN SIE FÜR DIE ZUKÜNFTIGE VERWENDUNG AUF.

Besuchen uns:www.costway.de

Folgen Costway

HANDBUCH

www.costway.de

Aktenschrank
CB10152

EN       DE       FR       ES       IT       PL

09



www.costway.de

Kontaktieren Sie uns!
Senden Sie diesen Artikel NICHT zurück.

Wenden Sie sich zunächst an unseren freundlichen Kundendienst.

E-mail
DE:cs.de@costway.com

Vor dem Beginnen

Bitte lesen Sie alle Anweisungen sorgfältig durch.

Bewahren Sie die Anweisungen zum zukünftigen Verwendung auf.

Separieren und zählen Sie alle Teile und Hardware.

Lesen Sie jeden Schritt sorgfältig durch und befolgen Sie die richtige 

Reihenfolge.

Wir empfehlen, wenn möglich, alle Artikel in der Nähe des Einsatzortes zu 

montieren, um ein unnötiges Bewegung des Artikels zu vermeiden.

Stellen Sie den Artikel immer auf eine glatte, flache und stabile Oberfläche.

Halten Sie alle kleinen Teile und Verpackungsmaterialien dieses Artikels von 

Babys und Kindern fern, da sie zur ernsthaften Erstickungsgefahr führen 

können.

10



www.costway.de

Seriennummer    Teilname Teil   Menge

A

B

C

D

E

F

G

I

J

K

L

M

N

H

O

P

M5*12MM
X22Selbstschneidende Schraube

Rollen

Schlüssel

Linke Gleitbahn      

Rechte Gleitbahn

Linke Gleitschiene

Rechte Gleitschiene

Schloss

Selbstschneidende Schraube

Rolle

Rutschfeste Dichtung

Überwurfmutter 

Rundkopfschraube

Dichtung

Untere Rollen 

Federmäppchen

X4

X1

X2

X2

X1

X1

X1

X10

X8

X4

X4

X4

X4

X1

X1

M4*10MM

M5*18MM

11



www.costway.de

Seriennummer    Teilname Teil   Menge

1

2

3

4

5

6

7

9

10

11

12

13

14

8

15

16

X1

X1

X1

X1

X1

X2

X1

X1

X2

X2

X2

X1

X1

X1

X1

X1

Rückplatte

Linke Platte

Rechte Platte

Innerer Rahmen    

Deckplatte 

Fußständer 

Bodenplatte 

Verriegelungsstange 

Kleine Schubladenplatte

Hintere Platte der kleinen 
Schublade

Frontplatte der kleinen 
Schublade

Große Schubladenplatte

Vorderer Block der großen 
Schublade

Hintere Platte der großen 
Schublade         

Frontplatte der großen 
Schublade

Eisenblende 

12



www.costway.de

5

2

6 7

3

1

4 8

2

3
1

1

4

2 3

5

4

6

7

5 6

7

8

8 9

D Links X2 E Recht X2

6

X 4

X 4A-M5*12 X 6A-M5*12

X10A-M5*12

X 4A-M5*12

B-4 C-1

J

1.Befestigen 
Sie die linke 
Platte (2) und 
die rechte 
Platte (3) mit 
Schrauben an 
der Rückseite 
(1).

2.Befestigen 
Sie den 
Innenrahme
n (4) mit 
Schrauben 
an der 
linken und 
rechten 
Platte (2 
und 3).

3. Installieren Sie die 
Deckplatte (5) von 
oben nach unten und 
befestigen Sie sie mit 
Schrauben an der 
linken und rechten 
Platte (2 und 3). 

4. Installieren 
Sie 2 
Fußständer 
(6) an der 
Bodenplatte 
(7).  

5. Installieren 
Sie die 
montierte 
Bodenplatte 
(7) an der 
linken Platte 
(2) und der 
rechten Platte 
(3) und 
befestigen Sie 
sie mit 
Schrauben.  

6. Installieren 
Sie 4 Rollen 
(B) an der 
linken Platte 
(2) und der 
rechten Platte 
(3) und ziehen 
Sie sie dann 
mit einem 
Schraubenschl
üssel fest. 

7. 
Installieren 
Sie die 
Verriegelung
sstange (8) in 
der rechten 
Platte (3) und 
setzen Sie 
den unteren 
Teil der 
Verriegelung
sstange in die 
rechte Platte 
ein.  

8. Installieren Sie die 
linken und rechten 
Gleitbahn (D und E) 
an der linken und 
rechten Platte (2 und 
3) und installieren Sie 
die Rolle (J).  

9. Zerlegen Sie, 
wie in der 
Abbildung 
gezeigt, die linke 
und die rechte 
Gleitschiene (F 
und G).  

13



www.costway.de

10 11 12

13 14 15

17 18

20 21

16

19

9

10

9

11

X2

13
14

12

15

9

12

12

9

14

X5

X4

F  Links X1 G  Recht X1

X 2

I-M4*8

M-M5*18

H-1

X 2 LKX 2J

X4N-M6

10. Installieren Sie die linke und rechte 
Gleitschiene (F und G) an der linken 
und rechten Platte (2 und 3).

11. Drehen Sie das 
Schloss (H) wie in der 
Abbildung gezeigt im 
Uhrzeigersinn und 
bringen Sie es nach 
dem Drehen auf der 
Deckplatte (5) an. 
Beachten Sie, dass die 
Verriegelungsstange 
(8) am Schloss 
installiert werden muss.  

12. Falten Sie wie in der Abbildung 
gezeigt die linke und rechte Seite der 
kleinen Schubladenplatte (9) um 90 
Grad nach oben, wie in Abbildung 13 
gezeigt.  

14. Installieren Sie wie in der Abbildung 
gezeigt den hinteren Block der kleinen 
Schublade (10) an der kleinen 
Schubladenplatte (9) und befestigen Sie 
ihn.  

15. Verbinden Sie wie in 
der Abbildung gezeigt die 
Frontplatte der kleinen 
Schublade (11) mit 
Schrauben mit der kleinen 
Schubladenplatte (9).  

16. Befestigen Sie die Rolle (J) wie in der 
Abbildung gezeigt mit Dichtungen und 
Überwurfmuttern an der linken und 
rechten Seite der kleinen Schubladenplatte 
(9).  

17. Wiederholen Sie die 
Schritte 12-16, um die 
Installation von 2 kleinen 
Schubladen abzuschließen.   

18. Falten Sie wie in der Abbildung 
gezeigt die linke und rechte Seite der 
großen Schubladenplatte (12) um 90 
Grad nach oben, wie in Abbildung 19 
gezeigt.  

19. Installieren Sie wie in der Abbildung 
gezeigt die zerlegten linken und rechten 
Innenschienen auf der linken und rechten 
Seite der großen Schubladenplatte (12).  

20. Installieren Sie wie in der Abbildung 
gezeigt den vorderen Block und den 
hinteren Block (13 und 14) an der großen 
Schubladenplatte(12) und befestigen Sie 
den vorderen Block der großen Schublade 
(13) an Ort und Stelle.  

21. Verbinden Sie die 
Frontplatte (15) wie in der 
Abbildung gezeigt mit 
Schrauben mit dem Frontblock 
der großen Schublade (14).   

14



www.costway.de

22
23 24

25 26 27

28
29

16 16

16

15

12

12

12

30

31

X2A-M5*12X1O

P X1

22. Befestigen Sie das untere Rollen (O) 
wie in der Abbildung gezeigt mit 
Schrauben an der Frontplatte der 
Schublade (15).    23. Installieren Sie die Eisenblende (16) 

an der großen Schubladenplatte (12).   

24. Installieren Sie zuerst eine Seite der 
Eisenblende (16) an der großen 
Schubladenplatte (12).   

25. Installieren Sie zuerst die andere 
Seite der Eisenleitwand (16) an der 
großen Schubladenplatte (12).    

26. Die große Schubladenmontage ist 
abgeschlossen.   

27. Installieren Sie die große 
Schublade am Schrank.   

28. Wenn die große Schublade 
herausgezogen wird, fällt das untere Rad 
zu Boden, um ein Umkippen zu 
verhindern.   29. Installieren Sie 2 kleine Schubladen.  

30. 
Installieren 
Sie in der 
ersten 
kleinen 
Schublade 
das 
Federmäpp
chen (P).

15



VIELEN 

DANK

Ihre Vorschläge und Kommentare für COSTWAY sind wirklich wichtig für uns!

Wir möchten uns bei allen Kunden herzlich bedanken, 

dass sie sich die Zeit genommen haben, dieses Produkt 

zusammenzubauen und uns wertvolle  Bewertung 

zukommen zu lassen.

Mit Ihrer inspirierenden Bewertung wird COSTWAY konsistenter sein, um Ihnen 

EIN SCHÖNES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN SERVICE zu bieten!

DE office:FDS GmbH,Neuer Höltigbaum 36,22143 Hamburg,Deutschland

www.costway.de

Belohnungspunkte

Exklusiver Kundendienst

Personalisierte Empfehlungen

Permanenter Einkaufswagen

Bestellverlauf

5 Sterne Bewertung

www.costway.de

16



 CE MANUEL D’INSTRUCTIONS CONTIENT DES INFORMATIONS IMPORTANTES SUR LA SÉCURITÉ. VEUILLEZ LIRE ET CONSERVER POUR LA RÉFÉRENCE FUTURE.

www.costway.fr

MANUEL DE L’UTILISATEUR

VEUILLEZ NOUS DONNER UNE 
OCCASION DE L’AMELIORER ET FAIRE MIEUX！
Contactez d’abord notre service à la clientèle amical pour l’aide. 

Les replacements pour les pièces manquantes ou endommagées 

seront envoyés le plus vite possible!

Consultez-nous : www.costway.fr

Suivez Costway

Caisson de Bureau
CB10152

EN       DE       FR       ES       IT       PL

17



Contactez-nous !
 Ne retournez pas cet article.

Contactez d’abord notre service à la clientèle amical pour l’aide. 

E-mail
 FR : cs.fr@costway.com

 Avant de Commencer

Veuillez lire attentivement toutes les instructions.

Conservez les instructions pour la référence future.

Séparez et comptez toutes les pièces et les outils de matériel.

Lisez attentivement chaque étape et suivez le bon ordre.

Nous recommandons que, si possible, tous les éléments soient 

assemblés à proximité de la zone dans laquelle ils seront utilisés, afin 

d'éviter de déplacer inutilement le produit une fois assemblé. 

Placez toujours le produit sur une surface plane, solide et stable.

Gardez toutes les petites pièces et le matériel d'emballage de ce produit 

hors de portée des bébés et des enfants car ils pourraient provoquer un 

risque grave d’étouffement.

www.costway.fr

18



www.costway.fr

N° Nom Image  Qté

A

B

C

D

E

F

G

I

J

K

L

M

N

H

O

P

M5*12MM
X22Vis autotaraudeuse

Roulette universelle

Clé

Glissière gauche

Glissière droite

Glissière gauche

Glissière droite

Serrure

Vis autotaraudeuse

Poulie 

Joint antidérapant

Écrou

Vis à tête ronde

Rondelle

Roulette

Trousse

X4

X1

X2

X2

X1

X1

X1

X10

X8

X4

X4

X4

X4

X1

X1

M4*10MM

M5*18MM

19



www.costway.fr

N°  Nom Image  Qté

1

2

3

4

5

6

7

9

10

11

12

13

14

8

15

16

X1

X1

X1

X1

X1

X2

X1

X1

X2

X2

X2

X1

X1

X1

X1

X1

Panneau arrière

Panneau gauche

Panneau droit

Cadre intérieur

Panneau supérieur

Pied

Panneau de base

Barre de verrouillage

Petit panneau 
inférieur de tiroir

Petit panneau 
arrière du tiroir

Petit panneau du tiroir

Grand panneau 
inférieur de tiroir

Grand panneau 
avant du tiroir

Grand panneau 
arrière du tiroir

Grand panneau du tiroir

Butée en fer

20



www.costway.fr

5

2

6 7

3

1

4 8

2

3
1

1

4

2 3

5

4

6

7

5 6

7

8

8 9

Glissière 

gauche (D) x 2

Glissière 

droite (E) x 2

6

X 4

X 4A-M5*12 X 6A-M5*12

X10A-M5*12

X 4A-M5*12

B-4 C-1

J

1. Fixez le 
panneau 
gauche (2) et 
le panneau 
droit (3) au 
panneau 
arrière (1) à 
l’aide des vis.

2. Fixez le 
cadre 
intérieur (4) 
aux 
panneaux 
gauche et 
droit (2 et 3) 
à l’aide des 
vis.

3. Installez le 
panneau supérieur 
(5) de haut en bas et 
fixez-le aux 
panneaux gauche et 
droit (2 et 3) à l’aide 
des vis.

4. Installez 
deux pieds 
(6) sur le 
panneau de 
base (7).

5. Installez le 
panneau de 
base assemblé 
(7) sur le 
panneau 
gauche (2) et 
le panneau 
droit (3) et 
fixez-les avec 
des vis. 

6. Installez 4 
roulettes (B) 
sur le panneau 
gauche (2) et 
le panneau 
droit (3), puis 
serrez-les avec 
une clé.

7. Installez la 
barre de 
verrouillage 
(8) dans le 
panneau droit 
(3) et insérez 
la partie 
inférieure de 
la barre de 
verrouillage 
dans le 
panneau droit.

8. Installez les 
glissières gauche et 
droite (D et E) sur les 
panneaux gauche et 
droit (2 et 3) 
respectivement, et 
installez les poulies (J).

9. Comme indiqué 
sur la figure, 
démontez 
respectivement les 
glissières gauche 
et droite (F et G).

21



www.costway.fr

10
11 12

13 14 15

17 18

20 21

16

19

9

10

9

11

X2

13
14

12

15

9

12

12

9

14

X5

X4

Glissière gauche (F) x 2

Glissière 
droite (G) x 2

X 2

I-M4*8

M-M5*18

H-1

X 2 LKX 2J

X4N-M6

10. Installez les glissières gauche et 
droite (F et G) sur les panneaux gauche 
et droit (2 et 3) respectivement.

11. Comme indiqué 
sur la figure, tournez 
la serrure (H) dans le 
sens des aiguilles 
d'une montre et 
installez-la sur le 
panneau supérieur 
(5) après l’avoir 
tourné. Notez que la 
barre de verrouillage 
(8) doit être installée 
sur la serrure.

12. Comme indiqué sur la figure, repliez 
les côtés gauche et droit du petit 
panneau inférieur de tiroir (9) à 90 
degrés, comme illustré à la figure 13.

14. Comme indiqué sur la figure, 
installez le petit panneau arrière du tiroir 
(10) sur le petit panneau inférieur de 
tiroir (9) et fixez-le en place.

15. Comme indiqué sur la 
figure, connectez le petit 
panneau du tiroir (11) au 
petit panneau inférieur du 
tiroir (9) à l’aide de vis.

16. Comme indiqué sur la figure, fixez 
les poulies (J) aux côtés gauche et droit 
du petit panneau inférieur de tiroir (9) 
avec des joints et des écrous.

17. Répétez les étapes 12 à 
16 pour terminer 
l’assemblage de deux petits 
tiroirs.

18. Comme indiqué sur la figure, 
repliez les côtés gauche et droit du 
grand panneau inférieur de tiroir (12) 
à 90 degrés, comme illustré à la 
figure 19.

19. Comme indiqué sur la figure, 
installez les glissières intérieures gauche 
et droite démontées sur les côtés gauche 
et droit du grand panneau inférieur de 
tiroir (12) respectivement.

20. Comme indiqué sur la figure, installez 
le panneau avant et le panneau arrière (13 
et 14) sur le grand panneau inférieur de 
tiroir (12) et fixez le grand panneau avant 
du tiroir (13) en place.

21. Comme indiqué sur la 
figure, connectez le panneau 
(15) au grand panneau avant du 
tiroir (14) avec des vis.

22



www.costway.fr

22
23 24

25 26 27

28 29

16 16

16

15

12

12

12

30

31

X2A-M5*12X1O

P X1

22. Comme indiqué sur la figure, fixez la 
roulette inférieure (O) au panneau du 
tiroir (15) avec des vis. 23. Installez la butée en fer (16) sur le 

grand panneau inférieur du tiroir (12).

24. Installez d’abord un côté de la butée 
en fer (16) sur le grand panneau 
inférieur du tiroir (12).

25. Installez l’autre côtéde la butée en 
fer (16) sur le grand panneau inférieur 
du tiroir (12).

26. L’assemblage du grand tiroir est 
terminé.

27. Installez le grand tiroir sur le 
caisson.

28. Lorsque le grand tiroir est sorti, la 
roulette inférieure tombe au sol pour 
éviter le basculement.

29. Installez les deux petits tiroirs

30. Installez 
la trousse à 
crayons (P) 
dans le 
premier 
petit tiroir.

23



Bienvenue pour visiter notre site et acheter nos produits de qualité!

Nous tenons à vous présenter nos remerciements 

sincères à tous nos clients qui prennent beaucoup 

de temps pour assembler ce produit et nous donner 

des commentaires précieux.

Avec votre évaluation inspirante, COSTWAY sera plus professionnel pour vous offrir une 

BONNE EXPÉRIENCE D’ACHATS, de BONS PRODUITS et un SERCIVE EFFICACE ! 

FR office : 26 RUE DU VERTUQUET, 59960 NEUVILLE EN FERRAIN, FRANCE

www.costway.fr

Points de Récompense

Service à la Clientèle Exclusif 

Recommandations Personnalisées
Panier Permanent

Historique des Commandes

merci

www.costway.fr

24



www.costway.es

MANUAL DEL USUARIO

ESTE MANUAL DE INSTRUCCIONES CONTIENE IMPORTANTES INFORMACIONES DE SEGURIDAD, POR FAVOR LO LEA Y GUARDE PARA REFERENCIAS FUTURAS.

¡Por favor dénos la oportunidad de hacerlo bien y mejorar!

Primero póngase en contacto con nuestro amable departamento de 

servicio al cliente para obtener ayuda. ¡Los reemplazos de piezas 

faltas o dañadas se enviarán lo antes posible!

Visítenos: www.costway.es

Siga Costway

Archivador con Ruedas
CB10152

EN       DE       FR       ES       IT       PL

25



www.costway.es

¡Contáctenos!
NO devuelva este artículo.

Primero póngase en contacto con nuestro amable departamento de servicio al cliente para obtener ayuda.

Antes de Empezar
Por favor lea todas instrucciones con mucha atención.

Retenga instrucciones para referencias futuras.

Separe y cuente todas las piezas y accesorios.

Lea cada paso cuidadosamente y siga el orden correcto.

Recomendamos que, cuando sea posible, todos los artículos se armen cerca 

del área en la que se utilizarán, para evitar mover innecesariamente el 

producto cuando emsamble.

Siempre coloque el producto sobre una superficie plana, estable y firme.

Mantenga todas las piezas pequeñas y los materiales de embalaje de este 

producto lejos de los bebés y los niños, ya que representan un grave riesgo 

de asfixia potencialmente.

ES

26



www.costway.es

Número  Nombre de Pieza Imagen  Cantidad

A

B

C

D

E

F

G

I

J

K

L

M

N

H

O

P

M5*12MM
X22Tornillo autorroscante

Rueda giratoria

Llave

Vía deslizante izquierda

Vía deslizante derecha

Riel deslizante izquierdo

Riel deslizante derecho

Cerradura

Tornillo autorroscante

Polea

Junta antideslizante

Tuerca

Tornillo de cabeza redonda

Arandela

Rueda inferior

Plumier

X4

X1

X2

X2

X1

X1

X1

X10

X8

X4

X4

X4

X4

X1

X1

M4*10MM

M5*18MM

27



www.costway.es

Número  Nombre de Pieza Imagen  Cantidad

1

2

3

4

5

6

7

9

10

11

12

13

14

8

15

16

X1

X1

X1

X1

X1

X2

X1

X1

X2

X2

X2

X1

X1

X1

X1

X1

Panel trasero

Panel izquierdo

Panel derecho

Marco interno

Panel superior

Soporte de pata

Panel inferior

Barra de bloqueo

Panel del cajón pequeño

Bloque trasero del cajón pequeño 

Panel frontal del cajón pequeño

Panel del cajón grande

Bloque frontal del cajón grande

Bloque trasero del cajón grande

Panel frontal del cajón grande

Deflector de hierro

28



www.costway.es

5

2

6 7

3

1

4 8

2

3
1

1

4

2 3

5

4

6

7

5 6

7

8

8 9

D-Izquierda x2

E-Derecha x2

6

X 4

X 4A-M5*12 X 6A-M5*12

X10A-M5*12

X 4A-M5*12

B-4 C-1

J

1. Fije el 
panel 
izquierdo (2) 
y el panel 
derecho (3) al 
panel trasero 
(1) con 
tornillos.

2. Fije el 
marco 
interior (4) a 
los paneles 
izquierdo y 
derecho (2 y 
3) con 
tornillos.

3. Instale el 
panel superior 
(5) de arriba 
abajo y fíjelo a 
los paneles 
izquierdo y 
derecho (2 y 3) 
con tornillos.

4. Instale 2 
soportes de 
pata (6) en 
el panel 
inferior (7).

5. Instale el 
panel inferior 
ensamblado 
(7) en el panel 
izquierdo (2) y 
el panel 
derecho (3), y 
fíjelos con 
tornillos.

6. Instale 4 
ruedas 
giratoria (B) 
en el panel 
izquierdo (2) 
y el panel 
derecho (3), 
y luego 
apriételas con 
una llave.

7. Instale la 
barra de 
bloqueo (8) 
en el panel 
derecho (3) 
e inserte la 
parte 
inferior de 
la barra de 
bloqueo en 
el panel 
derecho.

8. Instale las guías 
deslizantes izquierda y 
derecha (D y E) en los 
paneles izquierdo y 
derecho (2 y 3) 
respectivamente, e 
instale las poleas (J).

9. Como se muestra 
en la figura, 
desmonte los rieles 
deslizantes 
izquierdo y derecho 
(F y G) 
respectivamente.

29



www.costway.es

10 11 12

13 14 15

17 18

20 21

16

19

9

10

9

11

X2

13
14

12

15

9

12

12

9

14

X5

X4

F-Izquierdo x2 G-Derecho x2

X 2

I-M4*8

M-M5*18

H-1

X 2 LKX 2J

X4N-M6

10. Instale los rieles deslizantes 
izquierdo y derecho (F y G) en los 
paneles izquierdo y derecho (2 y 3) 
respectivamente.

11. Como se 
muestra en la figura, 
gire la cerradura (H) 
en el sentido de las 
agujas del reloj e 
instálela en el panel 
superior (5) después 
de girar. Tenga en 
cuenta que la barra 
de bloqueo (8) debe 
instalarse en la 
cerradura.

12. Como se muestra en la figura, doble 
los lados izquierdo y derecho del panel 
del cajón pequeño (9) a 90 grados como 
se muestra en la Figura 13.

14. Como se muestra en la figura, instale 
el bloque trasero del cajón pequeño (10) 
en el panel del cajón pequeño (9) y fíjelo 
en su lugar.

15. Como se muestra en la 
figura, conecte el panel 
frontal del cajón pequeño 
(11) al panel del cajón 
pequeño (9) con tornillos. 

16. Como se muestra en la figura, fije 
las poleas (J) a los lados izquierdo y 
derecho del panel del cajón pequeño (9) 
con juntas y tuercas.

17. Repita los pasos de12 a 16 
para completar la instalación de 
2 cajones pequeños.

18. Como se muestra en la figura, 
doble los lados izquierdo y derecho del 
panel del cajón grande (12) a 90 grados 
como se muestra en la Figura 19.

19. Como se muestra en la figura, instale 
los rieles internos izquierdo y derecho 
desmontados en los lados izquierdo y 
derecho del panel del cajón grande (12) 
respectivamente.

20. Como se muestra en la figura, instale 
el bloque delantero y el bloque trasero (13 
y 14) en el panel del cajón grande (12) y 
fije el bloque delantero del cajón grande 
(13) en su lugar.

21. Como se muestra en la 
figura, conecte el panel frontal 
(15) al bloque frontal del cajón 
grande (14) con tornillos.

30



www.costway.es

22
23 24

25 26 27

28 29

16 16

16

15

12

12

12

30

31

X2A-M5*12X1O

P X1

22. Como se muestra en la figura, fije la 
rueda inferior (O) al panel frontal del 
cajón (15) con tornillos. 23. Instale el deflector de hierro (16) en 

el panel del cajón grande (12).

24. Primero instale un lado del deflector 
de hierro (16) en el panel del cajón 
grande (12).

25. Luego instale el otro lado del 
deflector de hierro (16) en el panel del 
cajón grande (12).

26. Se completa el ensamblaje del 
cajón grande.

27. Instale el cajón grande en el 
cuerpo principal del archivador.

28. Cuando se saca el cajón grande, la 
rueda inferior caerá al suelo para evitar 
que se vuelque. 29. Instale los dos cajones pequeños.

30. En el 
primer 
cajón 
pequeño, 
instale la 
caja de 
lápices (P).

31



¡Bienvenido a visitar nuestro sitio web y comprar nuestros 
productos de alta calidad!

Nos gustaría expresar nuestro más sincero 

agradecimiento a todos nuestros clientes por tomarse 

el tiempo de ensamblar este producto y brindarnos 

valiosos comentarios.

¡Con su calificación inspiradora, COSTWAY será más consistente para ofrecerle EXPERIENCIA 

DE COMPRA CONVENIENTE, BUENOS PRODUCTOS y SERVICIO EFICIENTE!

EE.UU.: Fontana, California

Reino Unido: Ipswich

www.costway.es

Puntos de recompensa

Servicio al cliente exclusivo

Recomendaciones personalizadas

Carrito de compras permanente

Historial de pedidos

Gracias

www.costway.es

32



Visitateci: www.costway.it

Seguire CostwayVi preghiamo di darci la possibilità di fare bene e fare di meglio!

Per prima cosa contatta il nostro servizio di assistenza clienti.

Sostituzioni per parti mancanti o danneggiate saranno spedite al 

più presto!

 MANUALE UTENTE

www.costway.it

QUESTO MANUALE DI ISTRUZIONI CONTIENE IMPORTANTI INFORMAZIONI SULLA SICUREZZA. SI PREGA DI LEGGERE E CONSERVARE PER RIFERIMENTO FUTURO.

Cassettiera da Ufficio
CB10152

EN       DE       FR       ES       IT       PL

33



Contattaci!
NON restituire questo articolo.

Per prima cosa contatta il nostro servizio di assistenza clienti.

E-mail
IT: cs.it@costway.com

Prima di iniziare

Si prega di leggere attentamente tutte le istruzioni.

Conservare le istruzioni per riferimento futuro.

Separare e contare tutte le parti e l'hardware.

Leggere attentamente ogni passaggio e segui l'ordine corretto.

Raccomandiamo che, ove possibile, tutti gli articoli siano assemblati 

vicino all'area in cui saranno collocati, per evitare di spostare il prodotto 

inutilmente una volta assemblato.

Posizionare sempre il prodotto su una superficie piana e stabile.

Conservare tutte le parti di piccole dimensioni e i materiali di imballaggio 

per questo prodotto lontano da neonati e bambini poiché potrebbero 

causare un serio rischio di soffocamento.

www.costway.it

34



www.costway.it

Numero di serie  Nome della parte Parte  Quantità

A

B

C

D

E

F

G

I

J

K

L

M

N

H

O

P

M5*12MM
X22Vite autofilettante

Ruota 

Chiave  

Guida esterna sinistra  

Guida esterna destra

Guida interna sinistra  

Guida interna destra

Serratura

Vite autofilettante

Puleggia 

Guarnizione antiscivolo

Dado 

Vite a testa tonda

Guarnizione 

Rotella inferiore

Astuccio delle matite

X4

X1

X2

X2

X1

X1

X1

X10

X8

X4

X4

X4

X4

X1

X1

M4*10MM

M5*18MM

35



www.costway.it

Numero di serie  Nome della parte Parte  Quantità

1

2

3

4

5

6

7

9

10

11

12

13

14

8

15

16

X1

X1

X1

X1

X1

X2

X1

X1

X2

X2

X2

X1

X1

X1

X1

X1

Pannello posteriore

Pannello sinistro

Pannello destro

Telaio interno

Pannello superiore

Piede

Pannello inferiore

Barra di bloccaggio

Pannello del piccolo cassetto

Blocco posteriore del 
piccolo cassetto

Pannello davanti del 
piccolo cassetto

Pannello del grande cassetto

Blocco davanti del 
grande cassetto

Blocco posteriore del 
grande cassetto

Pannello davanti del 
grande cassetto

Diaframma di ferro

36



www.costway.it

5

2

6 7

3

1

4 8

2

3
1

1

4

2 3

5

4

6

7

5 6

7

8

8 9

D.Sinistra x2 

E. Destra x2

6

X 4

X 4A-M5*12 X 6A-M5*12

X10A-M5*12

X 4A-M5*12

B-4 C-1

J

1. Fissare il 
pannello 
sinistro (2) e il 
pannello 
destro (3) al 
pannello 
posteriore (1) 
con le viti.

2. Fissare il 
telaio 
interno (4) 
ai pannelli 
sinistro e 
destro (2 e 
3) con le 
viti.

3. Installare il 
pannello superiore 
(5) dall'alto verso 
il basso e fissarlo 
ai pannelli sinistro 
e destro (2 e 3) 
con le viti.

4. Installare 
2 piedi (6) 
sul pannello 
inferiore 
(7).

5. Installare il 
pannello 
inferiore 
assemblato (7) 
sul pannello 
sinistro (2) e 
sul pannello 
destro (3) e 
fissarli con le 
viti.

6. Installare 4 
ruote (B) sul 
pannello 
sinistro (2) e 
sul pannello 
destro (3), e 
poi serrarle 
con una 
chiave.

7. 
Installare 
la barra di 
bloccaggio 
(8) nel 
pannello 
destro (3) e 
inserire la 
parte 
inferiore 
della barra 
di 
bloccaggio 
nel 
pannello 
destro.

8. Installare le guide 
esterne sinistra e destra 
(D ed E) 
rispettivamente sui 
pannelli sinistro e 
destro (2 e 3) e 
installare le pulegge 
(J).

9. Come mostrato 
nella figura, 
smontare 
rispettivamente le 
guide interne 
sinistra e destra 
(F e G).

37



www.costway.it

9. Come mostrato 

rispettivamente le 

10 11 12

13 14 15

17 18

20 21

16

19

9

10

9

11

X2

13
14

12

15

9

12

12

9

14

X5

X4

F. Sinistra x1 G. Destra x1

X 2

I-M4*8

M-M5*18

H-1

X 2 LKX 2J

X4N-M6

10. Installare le guide esterne sinistra e 
destra (F e G) rispettivamente sui 
pannelli sinistro e destro (2 e 3).

11. Come mostrato 
nella figura, ruotare la 
serratura (H) in senso 
orario e installarlo sul 
pannello superiore (5) 
dopo averlo ruotato. 
Notare che la barra di 
bloccaggio (8) deve 
essere installata sulla 
serratura.

12. Come mostrato nella figura, piegare 
i lati sinistro e destro del pannello del 
piccolo cassetto (9) a 90 gradi come 
mostrato nella Figura 13.

14. Come mostrato nella figura, 
installare il blocco posteriore del piccolo 
cassetto (10) sul pannello del cassetto 
piccolo (9) e fissarlo in posizione.

15. Come mostrato nella 
figura, collegare il 
pannello davanti del 
cassetto piccolo (11) al 
pannello del cassetto 
piccolo (9) con le viti.

16. Come mostrato nella figura, fissare 
le pulegge (J) ai lati sinistro e destro del 
pannello del piccolo cassetto (9) con 
guarnizioni e dadi.

17. Ripetere i passi 12-16 per 
completare il montaggio di 2 
piccoli cassetti.

18. Come mostrato nella figura, 
piegare i lati sinistro e destro del 
pannello del cassetto grande (12) a 90 
gradi come mostrato nella Figura 19.

19. Come mostrato nella figura, 
installare le guide interne sinistra e 
destra smontate rispettivamente sui lati 
sinistro e destro del pannello del cassetto 
grande (12).

20. Come mostrato nella figura, installare 
il blocco davanti e il blocco posteriore (13 
e 14) sul pannello del cassetto grande (12) 
e fissare il blocco davanti del cassetto 
grande (13) in posizione.

21. Come mostrato nella figura, 
collegare il pannello davanti 
(15) al blocco davanti del 
cassetto grande (14) con viti.

38



www.costway.it

22
23 24

25 26 27

28 29

16 16

16

15

12

12

12

30

31

X2A-M5*12X1O

P X1

22.Come mostrato nella figura, fissare la 
rotella inferiore (O) al pannello davanti 
del cassetto (15) con le viti. 23.Installare il diaframma di ferro (16) 

sul pannello del cassetto grande (12).

24. Installare prima un lato del 
diaframma di ferro (16) sul pannello del 
cassetto grande (12).

25. Installare prima l'altro lato del 
diaframma di ferro (16) sul pannello del 
cassetto grande (12).

26. L'installazione del cassetto grande 
è completa.

27. Installare il cassetto grande 
sull'armadio.

28. Quando il cassetto grande è estratto, 
la rotella inferiore cadrà a terra per 
evitare il ribaltamento.

29. Installare 2 cassetti piccoli.

30. Nel 
primo 
piccolo 
cassetto, 
installare 
l'astuccio 
delle matite 
(P).

39



Benvenuti a visitare il nostro sito Web e acquistare i nostri
prodotti di qualità!

Ringraziamo sinceramente tutti i nostri clienti per

aver dedicato del tempo per assemblare questo

prodotto e fornirci preziosi feedback.

Con il tuo commento stimolante, COSTWAY continuerà a offrirti FACILITÀ DI ACQUISTO FACILE, 

PRODOTTI BUONI e SERVIZIO EFFICIENTE!

US ufficio: Fontana, California

UK ufficio: Ipswich

www.costway.it

Punti del premio
Servizio dei clienti esclusivo
Raccomandazioni personalizzate

Carrello permanente

Storia degli ordini

Grazie

www.costway.it

40



NINIEJSZA INSTRUKCJA ZAWIERA ISTOTNE INFORMACJE DOTYCZĄCE BEZPIECZEŃSTWA. PROSIMY O ZAPOZNANIE SIĘ Z NIĄ I ZACHOWANIE JEJ DO WGLĄDU W PRZYSZŁOŚCI.

Odwiedź nas: www.costway.pl
Śledź CostwayW razie kłopotów skontaktuj się z nami!

Jeśli potrzebujesz pomocy skontaktuj się z naszym przyjaznym 
działem obsługi klienta.
Ewentualne braki elementów zostaną uzupełnione najszybciej jak to 
możliwe!

EN       DE       FR       ES       IT       PL

 INSTRUKCJA OBSŁUGI
Szafka na dokumenty

CB10152

www.costway.pl

41



Skontaktuj się z nami!
Nie zwracaj tego produktu.

Jeśli potrzebujesz pomocy, skontaktuj się z naszym przyjaznym działem obsługi klienta.

E-mail
PL: sklep@costway.pl

Zanim Zaczniesz

Zapoznaj się z instrukcją. 

Zachowaj instrukcję do wglądu. 

Upewnij się, że zestaw jest kompletny. 

Zapoznaj się ze sposobem montażu i postępuj zgodnie z instrukcją. 

Sprawdź czy dysponujesz wystarczającą przestrzenią roboczą. 

Upewnij się, że produkt znajdzie się na płaskiej i stabilnej powierzchni.

Upewnij się, że materiały wykorzystane podczas pakowania produktu 

oraz jego elementy znajdują się poza zasięgiem dzieci.

www.costway.pl

42



www.costway.pl

Nr  Nazwa Ilustracja  ILOŚĆ

A

B

C

D

E

F

G

I

J

K

L

M

N

H

O

P

M5*12MM
X22Panel tylny

Lewy panel

Prawy panel

Rama wewnętrzna

Górny panel

Nóżka

Panel bazowy

Pasek blokady

Panel dolny szuflady

Tylny panel 
małej szuflady

Mały panel szufladowy

Panel dolny szuflady

Przedni panel 
dużej szuflady
Tylny panel 
dużej szuflady
Przedni panel 
dużej szuflady

Żelazna blokada

X4

X1

X2

X2

X1

X1

X1

X10

X8

X4

X4

X4

X4

X1

X1

M4*10MM

M5*18MM

43



www.costway.pl

Nr  Nazwa Ilustracja  ILOŚĆ

1

2

3

4

5

6

7

9

10

11

12

13

14

8

15

16

X1

X1

X1

X1

X1

X2

X1

X1

X2

X2

X2

X1

X1

X1

X1

X1

Samogwintujące śruby

Kółka

Klucz

Lewa prowadnica

Prawa prowadnica

Lewa prowadnica

Prawa prowadnica

Zastawka zamka

Samogwintujące śruby

Krążek linowy 

Uszczelka antypoślizgowa

nakrętka  

śruba z łbem 
kulistym zwykłym

Podkładka

Kółka

Schowek

44



5

2

6 7

3

1

4 8

2

3
1

1

4

2 3

5

4

6

7

5 6

7

8

8 9

Lewa prowadnica(D) x 2

Prawa prowadnica (E) x 2

6

X 4

X 4A-M5*12 X 6A-M5*12

X10A-M5*12

X 4A-M5*12

B-4 C-1

J

1. Przymocuj 
lewy panel (2) 
i prawy panel 
(3) do panelu 
tylnego (1) za 
pomocą śrub.

2. Przymocuj 
ramę 
wewnętrzną 
(4) do 
lewego i 
prawego 
panelu (2 i 3) 
za pomocą 
śrub.

3. Zamontuj panel 
(5) (od góry i 
dołu) i przymocuj 
go do lewego i 
prawego panelu (2 
i 3) za pomocą 
śrub.

4. Zamontuj 
dwie nóżki 
(6) na 
panelu 
podstawy 
(7).

5. Przymocuj 
zmontowany 
panel 
podstawy (7) 
do lewego 
panelu (2) i 
prawego 
panelu (3) i 
zabezpiecz je 
śrubami. 

6. Zamontuj 4 
kółka (B) na 
lewym panelu 
(2) i prawym 
panelu (3), a 
następnie 
dokręć je 
kluczem.

7. Zamontuj 
pręt 
blokujący (8) 
w prawym 
panelu (3) i 
włóż dolną 
część pręta 
blokującego 
do prawego 
panelu.

8. Zamontuj lewą i 
prawą prowadnicę (D i 
E) odpowiednio na 
lewym i prawym 
panelu (2 i 3) i 
zainstaluj koła pasowe 
(J).

9. Jak pokazano na 
rysunku, zdejmij 
odpowiednio lewą i 
prawą prowadnicę 
(F i G).

www.costway.pl

45



10 11 12

13 14 15

17 18

20 21

16

19

9

10

9

11

X2

13
14

12

15

9

12

12

9

14

X5

X4

Lewa 
prowadnica(F) x 2

Prawa prowadnica (G) x 2

X 2

I-M4*8

M-M5*18

H-1

X 2 LKX 2J

X4N-M6

10. Zainstaluj lewą i prawą prowadnicę 
(F i G) odpowiednio na lewym i 
prawym panelu (2 i 3).

11. Jak pokazano na 
rysunku, obróć blokadę 
(H) zgodnie z ruchem 
wskazówek zegara i po 
przekręceniu zamontuj 
ją na górnym panelu 
(5). Zwróć uwagę, że 
belka blokująca (8) 
musi być zainstalowana 
na zamku.

12. Jak pokazano na rysunku, złóż lewą 
i prawą stronę panelu małej, dolnej 
szuflady (9) pod kątem 90 stopni, jak 
pokazano na rysunku 13.

14. Jak pokazano na rysunku, zainstaluj 
tylny panel małej szuflady (10) na 
dolnym panelu małej szuflady (9) i 
zamocuj go na miejscu.

15. Jak pokazano na 
rysunku, połącz panel 
małej szuflady (11) z 
panelem małej dolnej 
szuflady (9) za pomocą 
śrub.

16. Jak pokazano na rysunku, zamocuj 
koła pasowe (J) po lewej i prawej 
stronie dolnego panelu małej szuflady 
(9) za pomocą uszczelek i nakrętek.

17. Powtórz kroki od 12 do 
16, aby zakończyć montaż 
dwóch małych szuflad.

18. Jak pokazano na rysunku, złóż 
lewą i prawą stronę panelu dużej, 
dolnej szuflady (12) pod kątem 90 
stopni, jak pokazano na rysunku 19.

19. Jak pokazano na rysunku, zamontuj 
lewe i prawe wewnętrzne prowadnice 
odpowiednio z lewej i prawej strony, 
dolnego panelu dużej szuflady (12).

20. Jak pokazano na rysunku, zainstaluj 
panele przednie i tylne (13 i 14) na 
dolnym panelu dużej szuflady (12) i 
zamocuj panel przedni dużej szuflady (13) 
na miejscu.

21. Jak pokazano na rysunku, 
połącz panel (15) z panelem 
przednim dużej szuflady (14) 
za pomocą śrub.

www.costway.pl

46



www.costway.pl

22
23 24

25 26 27

28 29

16 16

16

15

12

12

12

30

31

X2A-M5*12X1O

P X1

22. Jak pokazano na rysunku, przykręć 
dolne kółko (O) do panelu szuflady (15) 
za pomocą śrub. 23. Zamontuj żelazny stoper (16) na 

dolnym panelu dużej szuflady (12).

24. Najpierw zainstaluj jedną stronę 
żelaznego stopera (16) na dużym panelu 
dolnym szuflady (12).

25. Zamontuj drugą stronę żelaznego 
stopera (16) na panelu dużej dolnej 
szuflady (12).

26. Montaż dużej szuflady 
zakończony.

27. Zamontuj dużą szufladę na szafce.

28. Po wysunięciu dużej szuflady, małe 
kółko opada na podłogę, aby zapobiec 
przewróceniu się.

29. Zainstaluj dwie małe szuflady

30. Umieść 
schowek 
(P) w 
pierwszej 
małej 
szufladzie.

47



Zapraszamy do odwiedzenia naszej strony internetowej! 

Dziękujemy za dokonanie zakupu w naszym 

sklepie i zapraszamy do odwiedzenia go w 

przyszłości!

Twoja ocena nas inspiruje! Dzięki niej COSTWAY będzie dążył do zaoferowania ci WYDAJNEJ 
OBSŁUGI, DOBRYCH PRODUKTÓW I BEZPROBLEMOWYCH ZAKUPÓW!

PL office: Gdańsk

www.costway.pl

punkty lojalnościowe 
doskonała obsługa klienta 
personalizowane rekomendacje 

karta stałego klienta 
historia zamówień

Pięciogwiazdkowa Ocena

www.costway.pl

48




